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Statistics

CLASS-1

. What is the mode of the given data?
57,973,7,57,8,6,7
faw are st F1 agers
57,973,7,57,8,6,7
a)6 b) 5
c)7 d3

FT 2

. The mode & median of the data 8, 6, 8, 7, 8, 6,
8,76, is:
86,8 78 6 8 76 % Tgas IR
AT §:
a)7and 8
c)8and?7

b) 6 and 7
d)6and 8

. Find the median, mode and mean of 9, 5, 8, 9,
9,7,8,9,8,

9,548,909,7,8,9 8 & mfi‘qa:r,agmv
3R ATeT AT B

a)9,9,9
c)8,9,8

b)9,8,9
d)8,9,9

. Find the range of the data 2,1, 2, 3, 5, 4, 7, 3,
52, 4.

2,1,2,3,5,4,7,3,5,2,4 & 9RWAT A

Exl
a)5 b) 4
3 d)6

. The median of the data 7, 21, 2,17, 3,13, 7,
4,9,7,9is:

7,21,2,17,3,13,7,4,9,7,9 $ ACTHT

&
a) 4 b) 17
c)7 d)9

6. The median of the data-3,4,0,4,-2,-5,1, 7,
10,5is:

-3,4,0,4,-2,-5,1,7,10,5 # AT §:
a) 2 b) 2.5

c)2.75 d)3

7. What is the
distribution?

median of the following

42, 65, 18, 69, 29, 42, 48, 79, 25, 24, 98, 87, 63

fafaf@a faavor i afeasr Far 22

42, 65, 18, 69, 29, 42, 48, 79, 25, 24, 98, 87, 63

a) 43.5 b) 65
c) 42 d) 69

8. The median of the following numbers arranged
in ascending order is 2. 5, is so find x?
001,12 2 x,3,3,45,7
INE FA A gaieyd e et i
ARTFH12.5 & a x AT N
001,12 2 x,3,3,45,7
a)2 b)3
c)4a d)o

9. The median of a set of 11 distinct observations
is 73. 2. If each of the largest five observations
of the set is increased by 3, then the median
of the new set:

11 e Y& F F §Heaw #
aifeasT 73.2 8| I WH=AT F weEd @3
g Y&70 A ¥ 9dF F 3 ¥ o1 feAw

ST, At AT FHTAT HT ATETF FIT G2
a) is increased by 3

b) is 3 times that of the original set

c) Remains the same as that of the original set
d) Is decreased by 3.

10. Marks scored by student in different subjects
are given in the table below. Five marks are to
be deducted from each subject due to
shortage of attendance. The net average of
the mean, median and mode of the marks
obtained is

T B @Err faffiew vt & urea @
#ra aifesr & Ru arv | 3ufeed &7 g



11. The

12. The
2,9 9 3, 6,9, 4fromthe mean is:

ALT F 3HHS 2,9, 9,3, 6,9, 4F fawesr

13. Find
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14. Find the standard deviation of the following
data (rounded off to two decimal places).

53,4,7
$T ey I & frfaf@d i+ F1 AF Qgad 7
Marks A (B gIHAT TIT dF quUiifhd)
Obtaine s
Subject d 5,3,4,7
Out Of a)3.21 b) 1.48
100 c)4.12 d) 2.45
English 55
Hindi 15. The standard deviation of the set
indi 20
ath 75 {10, 11, 12, 9, 8} is:
athema
tics (10, 11, 12, 9, 8} FT AWF AT §:
Science 80 a)1l b) V2
Foreign 90 c) 2 d) 2v2
language
a) 79.33 b) 77.67 16. If the standard deviation of a. popuI.atlon is
6.5, what would be the population variance?
c) 82.66 d) 73 .
Ife T FAHEAT FT AAF QA°Gdad 6.5 §,
mean deviation of the data Al SHEEAT &1 fagdd =T e
3,10, 10, 4, 7, 10, 5,is a) 40.25 b) 42.25
3, 10, 10, 4, 7, 10, 5 &1 ATLT AT & c) 18.25 d) 13
49 19
a) — b) — . P
50 A 17. If the standard deviation of a population is
c) 2 d) ra 9.5, what would be the population variance?
IfE ITHEAT &1 AS f@gdeT 9.5 & ar
mean deviation of the data

g19:
42

a) 7

c)2.5

the

standard

{11, 7, 10, 13, 9}

{11, 7, 10, 13, 9} HT HFH fATad AT

|
a)1l
c)4

FAEEAT FT =0T F41 e

a) 19 b) 90.25
c) 81.25 d) 93.25
b) 18 18. The variance of a set of data is 144. Then the
d) é standard deviation of the data is:
7

S & TH Ve F fAEor 144 §| A

deviation  of 3T &T A [QadT ¢
a) +12 b) 12
c) 44 d) 72

The variance of a set of datais 121. Then the
standard deviation of the data is:

NHS & TH Ve & @EIor 121 g a
HHS & AF RAadT &

b) 2 19.
d)5
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21.

22.
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2 'P'f"‘* ‘l
E‘.“ ' = 5]

o A

a) +11
c)21

b) 11
d) 60.5

The mean of distribution is 21 and the

standard deviation is 7. What is the value of _

the coefficient of variation? Daily wages Interval | Frequency (No. of Employee)
faxor &1 ATew 21 @ 3R AWE e 7 80-90 9

¢ | f=Ror I 4 g 90-100 3

a) 16.66% b) 66.66% 100-110 31
c)33.33% d) 100% 110-120 5

The mean of a distribution is 15 and the 120-130 2

standard deviation is 5. What is the value of
the coefficient of variation?

T fqawor &1 #Aew 15 § IR A=e

fraerer 5 8| R=Ror IOTE T AT F24T B2
a) 16.66% b) 66.66%
c) 33.33% d) 22.22%

The mean of a distribution is 11 and the
standard deviation is 5. What is the value of

24.

50 FAAMET 1 fAF ddd =T &
afesr & @ = §| ReRfEa
RFedl § T T YT FT TIT |

a) The average wage of the employees lie
between 80-90.

b) The average wage of the employees lie
between 110-120.

c) The average wage of the employees lie
between 100-110.

d) The average wage of the employees lie
between 90-100.

Calculate the mean from the following table.

23.

the coefficient of variation? AFT arfesr @ #eg Y aorar Hifao)
T Qavor &1 At 11 % 3T AE Scores Frequencies
faeree 5 8| ReERor onE F1 A w24 0-10 2
a?rp 10-20 4
a) 45.45% b) 35.35% 2030 12
c) 25.25% d) 55.55% 30-40 21

40-50 6
Answer Key 50-60 3
1.C 2.C 3.C 4.D 5. C 070 N
6.B 7.C 8.B 9.C 10. B
11.D |12.B |13.B |14.B |15.B a)33.4 b)32.6
16.B  |17.B |18.B |19.B |20.C c)35.8 d) 34.2
21.C |22.A

Study the given table and answer the question
that follows. The daily wages of 50 employees
of a company is shown in the table. Select the
correct statement from the following options.

farfaf@a afasr &1 segaea &t 3R
A —T 7T g FT1 30 &| TF &y« &

25.

In the given histogram, what is the mean
height of all students correct to one decimal
place?

Ru av rgaRT &, oEl 1 Ay IS
FT 2
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27.
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18 - 17 a)51.2 b) 53.5
16 - 14 15 c)52.7 d) 50.6
14 - 13
g 12 4 11 10 . . . . .
2 10 - 28. In the given histogram, in which class interval,
8- the median class lie?
£ 0] RT v AR & AT fra ataw
= 2 # fya &
D -
100-105 105-110 110-115 115-120 120125 125-130 100 | 85 90
Height Class 90 -
80 - 70
2 70 -
a)116.8 b) 114.7 360 s 60
c) 116.2 d) 115.6 5 50 - 45
£ 40 -
2 30 -
In the given histogram, what is the mean 20 -
speed of cars (in km/h) to nearest whole 18 ]
number? 40-50 50-60 60-70 70-80 80-90 90-100
few v srgafy #, Awean b e A, speed (in km/h)
. N a) 70 — 80 b) 60 — 70
?
SRI A #1ey afq (Y / ger /) 71 ¢) 80 — 90 d) 50 — 60

100
20
80
70

] gs %0
b 70
T 60
60 1 50 a5
40 -
30 -
20 -
10 -
0 o

40-50 50-60 60-70 70-80 80-90 90-100
Speed (in km/h)

Number of cars
(¥, ]
o

a) 69 b) 70
c) 72 d) 71
In the given histogram, what is mean marks of

the students, correct to one decimal place?

few v smyafRy &, om & AT 3w F4T

&
32
28 30
14 || || || i[_

35 4
0-15 1530 3045 4560 6075 7590

30 -
25 -
Marks of students

20 -
15
10 4 8

Number of students

29.

30.

In the given histogram, in which class does the
median height of the students lie?

e v 3myafRT & oEt #r AegsT

Fai$ e oo & g &2

18 - 15

16 -

14 - - 13
§124 U 10
T 10 -
£ s-

P06 -
E 4 -
2 2 =

0 o

100-105 105-110 110-115 115-120 120-125 125-130
Height Class

a) 120 — 125 b) 105 — 110
c)115—-120 d)110 - 115
In the given histogram, which class is the

median class?

e v yrgaRT A, FFET T ACIFH
TF
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33. Find the mode for the given distribution
14 - (rounded off to two decimal places).

16 -

Number of students

15 i 14
12 12
i 10 :
10 - e aw seq &1 sgew TG AR @
7 6 SAVT T aF QoIifaa)
l CLASS INTERVAL 5-10 10-15 15-20 | 20-25 | 25-30 | 30-35
(a9 3iaTer)
FREQUENCY 8 7 6 9 11 10
- (SRFaTET)

OoON MO
L

150-155 155-160 160-165 165-170 170-175 175-180

31.

Height Class (In cm) a) 30.33 b) 40.25
a) 150 — 155 b) 155 - 160 c) 35.25 d) 28.33
c) 160 — 165 d) 165 — 175
34. For a sample data, mean = 60 and median =

In the given histogram, in which class interval,
the median marks lie?

e v rgafRy & Aftgsr e Fa oot

438. For this distribution, the mode is:

T AHAT HsT FT AT =

60 3

m%w#mm%@va’manwm

# fya @2
s . Aifrr
30 - a) 36 b) 18
c) 48 d) 24

Number of students

a)30 — 45
c) 60— 75

15-30

30-45 45-60
Marks of students

b) 45 — 60
d)15 - 30

60-75

75-90

25 -

20 -

15 - 35.
10 -

; J

0 -

In a frequency distribution,
graphical representation of

s Igfa Rawor &, dvor R F=1 qaia

¢

a) frequency / Hl'qﬁ-f
b) relative frequency / |T&T Hrqﬁ-f

c) cumulative frequency / e Hrqﬁ-f

ogives are

32. In the given histogram, find the Median and d) raw data / e 3TFET
Mode.
Igaa A, AT qgH

e aw ! IR Answer Key

qdrsv. 23.C 24.A 25.B 26.A 27.D
35 - . 32 28.B 29.D 30.C 31.B 32.*
30 - 28 33.D 34.D 35.C

g 25 -

£ 20 16

,,E 15 - 14

210 8

2 g I
0 o

0-15

15-30

30-45 45-60
Marks of students

60-75

75-90



